
 

 

 

 

 

 

 

 

 

  :  

 

  

 بارم  ردیف

 

{∅}□□ 

√ +□□ 

□□ 

□□ 

 

 

 

𝐴 ⊆ 𝐵 

 

 

  

 .

 

 

( + √ ) 

□ □ □ □  

 

□        □         □             □ 

 

□ □ □ □ 

(√ + √ )□ 

    □  √                            □  √                           □  √                   □   
a

{−       𝑎 } = {  
−

  } 

 

N  Q  W⊆

 

 

 

 

 



 بارم ردیف

𝐴 = {   − }𝐵 = {    }

 

                                                                                                                   (𝐵 ∪ 𝐴) = 
(𝐴 − 𝐵) = 

(𝐵 ∩ 𝐴) = 

 

  

 

 

 
 

 

 

 

 

 
 

 

 

 

  

 

 

  

 

 

 

√  

۱ 

۹  

− + ÷
−

× + =

A 

𝐴 = {𝑥 ∈ 𝑅 | − 2 < 𝑥 ≤ 5} 
 

 

 

 



 

 بارم ردیف

۱۰ 𝑎 < 𝑏 < 𝑎 < 𝑏 

|𝒂 + 𝒃| =                                        
 

|𝒂 − 𝒃| = 
 

 

 

 

|− + √  | =
 

 

√( − √ ) =

۱ 

۱۲  . 

 

 
 
 
 
 

 
 

 

 

 

 

 

 

 

 

۱ 

 

 

× −

− ×
= 

× = 
 



 

 ردیف
 

 بارم

   

   

 ABCDBEAFCE=DF 

BE=AF 

 

۱ 

 

 

 

 

√
= 

√−

√
= 


